ALUSTAVA 26.6.2008

AVO-ASUMISOIKEUS OY / KOMPANKAARI

POHJAPIIRROS

AS1, 4ja7
2H+K+S
53,0

AITA

SIJAINTIKAAVIO
AS1,4ja7 2H+K+S 53,0 m?



ALUSTAVA 26.6.2008

AVO-ASUMISOIKEUS OY / KOMPANKAARI

POHJAPIIRROS

AS2 5ja8
3H+K+S
74,5

AITA

SIJAINTIKAAVIO
AS2,5ja8 3H+K+S 74,5 m?




ALUSTAVA 26.6.2008

AVO-ASUMISOIKEUS OY / KOMPANKAARI

POHJAPIIRROS

AITA

SIJAINTIKAAVIO
AS 3 3H+K+S 74,5 m?
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AVO-ASUMISOIKEUS OY / KOMPANKAARI

POHJAPIIRROS
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SIJAINTIKAAVIO
AS6 3H+K+S 74,5 m?



POHJAPIIRROS
P

SIJAINTIKAAVIO
AS9 3H+K+S 74,5 m?
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AVO-ASUMISOIKEUS OY / KOMPANKAARI

MH1

KKKKK

AS9
3H+K+S

74,5

AITA
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AVO-ASUMISOIKEUS OY / KOMPANKAARI
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SIJAINTIKAAVIO
AS 10 3H+K+S 74,5 m?
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AVO-ASUMISOIKEUS OY / KOMPANKAARI

POHJAPIIRROS

OH

AS 11
2H+K+S
53,0

: A

AITA

SIJAINTIKAAVIO
AS 11 2H+K+S 53,0 m?
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AVO-ASUMISOIKEUS OY / KOMPANKAARI

POHJAPIIRROS
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AS 12
2H+K+S
53,0
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AITA

SIJAINTIKAAVIO
AS 12 2H+K+S 53,0 m?
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AVO-ASUMISOIKEUS OY / KOMPANKAARI

POHJAPIIRROS

AITA

uw

SIJAINTIKAAVIO
AS 13 2H+K+S 53,0 m?



ALUSTAVA 26.6.2008

AVO-ASUMISOIKEUS OY / KOMPANKAARI

POHJAPIIRROS

AITA

SIJAINTIKAAVIO
AS 14 3H+K+S 74,5 m?
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AVO-ASUMISOIKEUS OY / KOMPANKAARI

POHJAPIIRROS

AITA

SIJAINTIKAAVIO
AS 15 4H+K+S 87,5 m?
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AVO-ASUMISOIKEUS OY / KOMPANKAARI

POHJAPIIRROS
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AS 16
2H+K+S
53,0

AITA

SIJAINTIKAAVIO
AS 16 2H+K+S 53,0 m?




